Award Worksheet

Purchasing Entity:	Memphis City Schools			Run Date:	3/20/13 10:09 am		
Bid ID:	1198	Awarded:					
Description:	Maintenance Warehouse	Bids Due By:	03/20/2013 10:00 AM				
Category:	HVAC Supplies - dk/1106789t18	Bids Sealed Until:	03/20/2013 10:00 AM				
Effective Start Date:							
Effective End Date:							
Vendor Summary Information							

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
Aftermarket Resources, Inc.	•	net 10	10,872.0000
AutomotiveTool Group	No delivery charges	Net 15 days 2.5% late payment fee if appliacable	70,873.2000
C.C. Dickson Co.			61,265.6000
Ferguson Enterprises, Inc			20,584.5120
Johnstone Supply			87,981.4400

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found fo 1	r the selected criteria. Item #: 30042 Couplings, Standard, 1.25" IDX.63/.50 ID (No Insert) Manufacturer & Part Number:	1 - 1.0000 Each Purchase MCQuay - gca50015a	Aftermarket Resources, Inc.	78.0000	120	9,360.00			
	Quoted as Spec'd: Yes		Product Number: GCA5000-15						
	Response Item Payment Terms	s: Net 10							
	Response Item Notes: Item des - 6 working days.	cription incorrect. P/N for co	upling w/out insert is GC5021 at	\$59.80 each. 7 in	stock, rest fac	tory stock 4			
	Item #: 30042 Couplings, Standard, 1.25" IDX.63/.50 ID (No Insert)	1 - 1.0000 Each Purchase	Johnstone Supply	78.8400	120	9,460.80			
	Manufacturer & Part Number:	MCQuay - gca50015a							
	Quoted as Spec'd: Yes		Product Number: L41-229						
	Item #: 30042 Couplings, Standard, 1.25" IDX.63/.50 ID (No Insert) Manufacturer & Part Number:	1 - 1.0000 Each Purchase MCQuay - gca50015a	Ferguson Enterprises, Inc	122.7500	120	14,730.00			
		MCQuay - gcaborba	Broduct Numbers CCAE001EA						
		/	Product Number: GCA50015A						
2	Item #: 30062 Refrigeration Freon R22 Manufacturer & Part Number:	1 - 30.0000 Pound Container National Regrigerants	C.C. Dickson Co. - 30R22	390.0000	120	46,800.00			
	Quoted as Spec'd: Yes		Product Number: 30R22						
	Item #: 30062 Refrigeration Freon R22 Manufacturer & Part Number:	1 - 30.0000 Pound Container FORANE - R22-30	Johnstone Supply	500.0000	120	60,000.00			
	Quoted as Spec'd: Yes		Product Number: B92-085						
	Item #: 30062 Refrigeration Freon R22 Manufacturer & Part Number:	1 - 30.0000 Pound Container Import	AutomotiveTool Group	535.1500	120	64,218.00			
	Quoted as Spec'd: Yes		Product Number: 6230						
	Response Item Payment Terms	: Net 15 2.5% late payment	fee if appliable						
3	Item #: 30073 Refrigeration Freon 134A Manufacturer & Part Number:	1 - 30.0000 Pound Container Import	AutomotiveTool Group	83.1900	80	6,655.20			
	Quoted as Spec'd: Yes		Product Number: 7330						
	Item Notes: Non reusable cylind	ler.							

Line Number	Lot Code	Item Description Response Item Payment Terms	Purchase Unit	Vendor fee if applicable	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 30073 Refrigeration Freon 134A Manufacturer & Part Number:	1 - 30.0000 Pound Container National Refrigerants	C.C. Dickson Co.	86.0000	80	6,880.00			
		Quoted as Spec'd: Yes		Product Number: 30R134a						
		Item #: 30073 Refrigeration Freon 134A Manufacturer & Part Number:	1 - 30.0000 Pound Container FORANE - R134A-30	Johnstone Supply	108.8000	80	8,704.00			
		Quoted as Spec'd: Yes		Product Number: B92-373						
		Item #: 30075 Coil Cleaner, Non-Acid Manufacturer & Part Number:	1 - 1.0000 Gallon Bottle Ace Chemical - FNC1	C.C. Dickson Co.	9.9400	240	2,385.60			
		Quoted as Spec'd: Yes		Product Number: FNC1						
		Item Notes: Coil cleaner and br cooling and heating coils.	ightener. Super high foaming	g, USDA authorized concentrated	biodegradable. F	or aluminum fi	nned			
		Item #: 30075 Coil Cleaner, Non-Acid Manufacturer & Part Number:	1 - 1.0000 Gallon Bottle Ace Chemical - FNC1	Johnstone Supply	10.7400	240	2,577.60			
		Quoted as Spec'd: Yes		Product Number: B84-174						
		Item #: 30075 Coil Cleaner, Non-Acid Manufacturer & Part Number:	1 - 1.0000 Gallon Bottle Ace Chemical - FNC1	Ferguson Enterprises, Inc	15.1500	240	3,636.00			
		Quoted as Spec'd: Yes		Product Number: 429108						
5		Item #: 30085 Flouromethane / Dichlorodi 410A 25 LBS Non-Flammable Liquefied Gas	1 - 25.0000 Pound Container	C.C. Dickson Co.	65.0000	80	5,200.00			
		Manufacturer & Part Number:	Forane Genetron - 25	R410a						
		Quoted as Spec'd: Yes		Product Number: 25R410a						
		Item Notes: No Deposit, no retu	rn container.							
		Item #: 30085 Flouromethane / Dichlorodi 410A 25 LBS Non-Flammable Liquefied Gas	1 - 25.0000 Pound Container	Johnstone Supply	72.6800	80	5,814.40			
		Manufacturer & Part Number:	Forane Genetron - R4	10A-30						
		Quoted as Spec'd: Yes		Product Number: B92-910						

N

	Lot ode	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
6		Item #: 30244 Transformer, 120 Volt Manufacturer & Part Number:	1 - 1.0000 Each Purchase McQuay - 105658001	Johnstone Supply	59.3600	24	1,424.64			
		Quoted as Spec'd: Yes	Wicquay - 10000001	Product Number: L44-847						
		Item #: 30244 Transformer, 120 Volt Manufacturer & Part Number:	1 - 1.0000 Each Purchase McQuay - 105658001	Aftermarket Resources, Inc.	63.0000	24	1,512.00			
		Quoted as Spec'd: Yes		Product Number: 105658001						
		Response Item Payment Terms	: Net 10							
		Response Item Notes: 2 in stoc	k, rest factory stock 4 - 6 da	ys						
		ltem #: 30244 Transformer, 120 Volt Manufacturer & Part Number:	1 - 1.0000 Each Purchase McQuay - 105658001	Ferguson Enterprises, Inc	92.4380	24	2,218.51			
		Quoted as Spec'd: Yes		Product Number: 1056580001						